normalized X?

1072

107

107

- | Mean

Entries

chi2

Entries 14114

+ | Mean 1.337

1. Lstd Dev 1.882
chiz

Entries 18018

Mean 1.216

- |_std Dev. 1.608
chi2

Std Dev

2 4 6 8101214161820

X2

1

< x2/ndf >

[ normalized x? probability |

Chiz_prob
- Entries Ta11a
. Mean 05454
0.12f--: Std Dev 0.3445
: : PR
0.1--+ - [Entries JEE
Mean 05538
: Std Dev 03337
0.08 RN T
Entries 8017
Mean 05539
0.06 . Lstd Dev 03337
0.04
0.02
o 10 ! Ay TP P T PP P P
2 .
©
IR {1l
0 01020304 05 0.6 0.7 08 09 1

Prob(x?)

== DQM_V0001_R000000001__Global_
s DQM_V0001_R000000001__Global
m—— DQM_V0001_R000000001__Global_i

cmssw__RECO
|__mkFitOriginal__RECO
mkFitNew__RECO

< x2/ ndf >

< X2/ ndf >

Ratio

107 1072

-1
AR(track, jeltS)



	Contents
	Page 1


